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1392*11*19 :ýÂÚ÷¥�� ßþÂ¡� ¾þ¤�� 1392*2*28 :´ê�þ¤¢ ¾þ¤��ö�õ¥� ù¤�õ� ýÀ� âþ¥�� ø üþ�Þ�µ¨¤¢ (�±ª) ý�ûÂð¢¤ø�Â� �ó�Öõ ßþ� ¤¢ : ùÀ�Ø�ý�Â� À��ø �Èþ¤ ßµª�¢ ö�õ¥� �ÜÞ� ¥� ÓÜµ¿õ ­Âê ö�õ¥� À�� �� ¯��Âõ ùÂÞ÷�� Å³¨ . À÷�ªüõ ù¢¤ø� ´¨¢�� �÷�õ�÷ ø �÷�õ ý�ûùÀ÷�õ �� üÎ¡ ü÷��¨Âð¤ ñÀõ´¨¢�� üþ�Þ�µ¨¤¢ (�±ª) ý�ûÂð¢¤ø�Â� �î ¢�ªüõ ù¢�¢ ö�È÷ �ó¤�î ´÷�õ ©ø¤ö�õ¥� ý�ûù¤�õ� ýÀ� âþ¥�� ý�ûíÀ�� ø À�µÆû ü±¨��õ ý�ûÂð¢¤ø�Â � ,ùÀõ�.À÷�ªüõ ���¤� üóø�À� ¤¢ ø �±¨�½õ À��ø �Èþ¤ ßµª�¢ù¤�õ� ,üþ�Þ�µ¨¤¢ (�±ª) Âð¢¤ø�Â� ,üÎ¡ ö��¨Âð¤ ,üµÈð¥��¢�¡ ñÀ õ : ýÀ�Üî ý�ûù��ø.üã��� ý�îÂõ À� ��Ìì ,À��ø �Èþ¤ ö�õ¥� ,ùÂÞ÷ ö�õ¥�0 . s.zamani121�yahoo.
om ,ö�þÂúõü÷�õ¥ �ÖþÀ¬ :�ó�Öõ ñ�ÿÆõ ×�÷øÂµØó� §¤¢�0 . 60J65 ,60F17 ,62M10 :(2010) ü®�þ¤ ýÀ��á�®�õ Àî



üÎ¡ ü÷��¨Âð¤ ñÀõ ¤¢ ùÂÞ÷ ö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ : : : : : : : : : : : : : : : : : : : : : : : : : : 190�õÀÖõ 1xi ö� ¤¢ �î ,ÀþÂ�Ú� ÂÑ÷ ¤¢ �¤ yi = �Txi + "i i = 1; : : : ; n üÎ¡ ö��¨Âð¤ ñÀõü�ãþ .À��îüõ ýøÂ�� AR(1) ñÀõ ¥� �ûùÀ÷�õ ø üê¢�Ê� Â�è ýÀã� d ¤�¢Â�"i = �"i�1 + �i i = 2; : : : ; n �1 < � <1ß�Ú÷��õ �� âþ¥�� Ýû ø ÛÖµÆõ üê¢�Ê� ý�ûÂ�çµõ �i ø � 2 (�1;1) �î ý¤�Ï��ýÀã� d� d ý�ûÅþÂ��õ � 2 (�1;1) ý�Â� .À�µÆû �2 Å÷�þ¤�ø ø ÂÔ¬Xn(�) = nXi=1 (xi � �xi�1)(xi � �xi�1)Tø À�µÆû ´±·õ �È�Þû ,ï¤�� üê�î ù¥�À÷� �� ý�ûn ý�Â� ¢�ªüõ­Âê ø ÓþÂã�limn!1 max1�i�nxTi X�1n (�)xi = 0 (1)�õ�¢� ¤¢ .(2003 ,Âó�õ §�¤) ´¨� ¢ÂÔ�õ �÷ �û n �Þû ý�Â� Xn(�) ,1 ­Âê ´½�,À��ø �Èþ¤ ßµª�¢ ö�õ¥� ý�ûù¤�õ� ýÀ� âþ¥�� ø üþ�Þ�µ¨¤¢ (�±ª) ý�ûÂð¢¤ø�Â�ö��¨Âð¤ ¤¢ üÚµÆ±Þû¢�¡ ö�õ¥� ,üµÈð¥��¢�¡ ñÀõ ¤¢ üÚµÆ±Þû¢�¡ ö�õ¥�âþ¥�� .À÷�ªüõ �±¨�½õ �÷�õ�÷ ø �÷�õ ý�ûùÀ÷�õ �� üÎ¡ ö��¨Âð¤ ñÀõ ý�Â� üÎ¡¤¢ .¢�Þ÷ ���¤� ùÀ�»�� �µ±Æ÷ ü��±�� �� (2003) Âó�õ §�¤ �¤ �ûö�õ¥� ßþ� ù¤�õ� ýÀ�ý�ûö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ Â�ù¢�¨ ü��±�� �� ùÂÞ÷ ö�õ¥� ù¤�õ� ¥� ù¢�Ôµ¨� �� 3 Ç¿�âþ¥�� ý�ûíÀ�� �ó¤�î ´÷�õ ©ø¤ ¥� ù¢�Ôµ¨� �� Å³¨ .À÷�ªüõ �ãó�Îõ ùÀª ö������Èõ üóø�À� 4 Ç¿� ¤¢ .À÷�ªüõ �±¨�½õ À��ø �Èþ¤ ö�õ¥� ý�ûù¤�õ� ýÀ��� ¯��Âõ ý�û��®Âê ö�õ¥� ¤¢ À÷���üõ �î À÷�ªüõ ���¤� (1976) üØþ¢ ñø�À�.¢Â�ð ¤�Âì ö�ÖÖ½õ ù¢�Ôµ¨� ¢¤�õ À��ø ý�û�Èþ¤�ûÂµõ�¤�� ¢¤ø�Â� 2ñÀõyi = �Txi + ei i = 1; : : : ; n (2)



191 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬,À�µÆû üê¢�Ê� ý�ûÂ�çµõ �û ei ø üê¢�Ê� Â�è ¤�¢Â� xi ö� ¤¢ �î ,ÀþÂ�Ú� ÂÑ÷ ¤¢ �¤ø e1 = �1 �î ý¤�Ï��ei = �ei�1 + �i i = 2; : : : ; n (3)�2 Å÷�þ¤�ø ø ÂÔ¬ ß�Ú÷��õ �� âþ¥��Ýû ø ÛÖµÆõ üê¢�Ê� ý�ûÂ�çµõ �û �i ö� ¤¢ �î.À�µÆûíÂµÈõ âþ¥�� �� âþ¥��Ýû ø ÛÖµÆõ üê¢�Ê� ý�ûÂ�çµõ �i ¢�ªüõ­Âê �Àµ��¯Âª �� y2; : : : ; yn üþ�Þ�µ¨¤¢ (�±ª) â��� Ýµþ¤�Úó �¤�¬ ßþ� ¤¢ .À�ª�� N(0; �2)¥� ´¨� �¤�±ä y1'(�;�; �2) = �n� 12 log2� � n� 12 log�2 � 12�2 nXi=2("i � �"i�1)2:(� ±ª) Ý µ þ¤�Ú ó â �� � ö¢Âî ÝÞ �Æî� õ ø üµ � ó� õÂ ÷ ­Âê éÁ� � � � Ü�Âõ ßþ� ¤¢.À÷�ªüõ �±¨�½õ �2;�; � ý�ûÂµõ�¤�� üþ�Þ�µ¨¤¢ (�±ª) ý�ûÂð¢¤ø�Â� üþ�Þ�µ¨¤¢�'n��2 = �n� 12�2 + 12�4 nXi=2("i � �"i�1)2�'n�� = 1�2 nXi=2("i � �"i�1)(xi � �xi�1)�'n�� = 1�2 nXi=2 "i�1("i � �"i�1)�¤�¬�� ¢��ø �¤�¬ ¤¢ �ûÂµõ�¤�� Âð¢¤ø�Â��̂2(n) = 1n� 1 nXi=2("̂i � �̂(n)"̂i�1)2;nXi=2("̂i � �̂(n)"̂i�1)(xi � �̂(n)xi�1) = 0nXi=2 "̂i�1("̂i � �̂(n)"̂i�1) = 0 (4)



üÎ¡ ü÷��¨Âð¤ ñÀõ ¤¢ ùÂÞ÷ ö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ : : : : : : : : : : : : : : : : : : : : : : : : : : 192¤�Ï�� ø ÀþÂ�Ú� ÂÑ÷ ¤¢ �¤ �0 = (�0; �0) ýÀã� d+ 1 ¤�¢Â� ñ�� .À÷��±¨�½õ Û��ìÀ�û¢ ¤�Âì ø � = (�; �) À��î ­Âê ���ÈõSn(�) = �'n�� = (�'n�� ; �'n�� )F n(�) = � �2'n����T ;�¤�¬�� F n(�) ÅþÂ��õ ý�û�þ¤�¢ ö� ¤¢ �îF��(�) = � �2'n����T = � ��� ( �'n��T ) = � ��� (�'n�� )T= 1�2 nXi=1 (xi � �xi�1)(xi � �xi�1)T = 1�2Xn(�);F��(�) = ��2'n���� = 1�2 nXi=2 xi�1("i � �"i�1) + "i�1(xi � �xi�1F��(�) = ��2'n��2 = 1�2 nXi=2 "2i�1�2'n��2 = �F��(�) = � 1�2 Pni=2 "2i�1 < 0 � ûö� ¤¢ � î À ÷�� ± ¨� ½ õ Û �� ì´ �� � (5) �Î ��¤ � � ��� � � � ß � �»Þû �2'n����T = �F��(�) = � 1�2Xn(�) < 0. ����� �2'n����T �2'n�����2'n��T �� �2'n��2 ������=�̂ > 0 (2003 ,Âó�õ §�¤) ¢�ªüõDn = E(F n(�0)) = �E( �2'n����T j�=�0 ,E(Sn(�0) = 0 � î ¢� ª � �� �.V (Sn(�0)) =Dnø�¤�¬�� �0 ý�Â� Nn(A) üÚþ�ÆÞû n = 1; : : : Âû ý�Â�Nn(A) = f� 2 Rd+1 : (� � �0)TDn(� � �0) � A2g; A � 0;Ýþ¤�¢ A � 0 Âû ý�Â� ß��»Þû .� 2 Nn(A) Ý��îüõ ­Âê ø ¢�ªüõ ÓþÂã�sup�2Nn(A) ����D� 12n F n(�)D�T2n �Gn���� p�!1 (5)ÅþÂ��õ �� âþ¥�� ¤¢ Gn .Gn =  Id 00 Pnt=2 e2t�1�n(�0;�0) ! ö� ¤¢ �î



193 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬
G =  Id 00 S�(�0; �0) !ø �n(�0; �0) = E(Pnt=2 e2t�1) � n
 ö� ¤¢ �î (2003 ,Âó�õ §�¤) .´¨� �ÂÚÞûS�(�0; �0) = 8><>: 1 ; j�0j < 12 R 10 W 2(t) ; j�0j = 1S2(�0; �0) ; j�0j > 1� ± þÂÖ � ¤�Ï�� S(�0; �0) = p�0�1�0 Pj�1 nj�j0 üê¢�Ê� Â�çµõ ,j�0j > 1´ó��¤¢�ÂÚÞû �ÖÜÎõ ,ßÿÞÎõ �±þÂÖ� ¤�Ï�� ùÀª ÓþÂã� ýÂ¨ ö�� ,´¨� üû��µõ ßÿÞÎõ.(1965 ,ø��) ´¨�(2003 ,Âó�õ §�¤) Ýþ¤�¢ (5) �Î��¤�� ���� ��F n(�̂(n)) =D 12nGnD T2n : (6)�û­Âê ö�õ¥� 3À�� �� ¯��Âõ (1974 ,üÜØ��û) ùÂÞ÷ ö�õ¥� ý�ûù¤�õ� ýÀ� ¤�µê¤ Ç¿� ßþ� ¤¢.À÷�ªüõ ü¨¤Â� ÓÜµ¿õ ­Âê ö�õ¥�ü÷��¨Âð¤ ý�ûùÀ÷�õ ¤¢ À��ø �Èþ¤ ö�õ¥� 1.3Û þÀ ± � ü ê¢� Ê � �À ì � � ei = �0ei�1 + �i ñÀ õ �0 = 1 ­Â ê ´ ½ �ñ¢� ã õ ü ÷� � ¨Â ð¤ ý� ûùÀ ÷� õ ¤¢ À ��ø � È þ¤ ö� õ¥� .¢� ª ü õ�0 ö� õ¥� ß þ� ¤¢ .´ ¨� H11 : �0 6= 1 Û �� Ö õ ¤¢ H01 : �0 = 1 ö� õ¥�ù¤� õ� .À � µ Æ û Ý ��� õ ý� ûÂ µ õ�¤� � �20 ø �0 ø � ì� ä ¢¤� õ Â µ õ�¤� �,´ ¨� SC1 = S2� (F ��n (�)j�=�̂0)�1 Â ��Â � H01 � � ®Â ê ý�Â � ùÂ Þ ÷ ö� õ¥�Â ð¢¤ø�Â � �̂0 ø F ��n (�) = F��(�̂0) � F��(�̂0)(F��(�̂0))�1F��(�̂0) ö� ¤¢ � î.´¨� H01 ´½� � üþ�Þ�µ¨¤¢�±ª



üÎ¡ ü÷��¨Âð¤ ñÀõ ¤¢ ùÂÞ÷ ö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ : : : : : : : : : : : : : : : : : : : : : : : : : : 194� � ®Â ê ´ ½ � ö� õ¥� ù¤� õ� ýÀ � â þ¥� � (3) � � (1) Í ��ø¤ ´ ½ � : 1 ��Ìì�¤�¬�� H11 : �0 6= 1 Û��Öõ ¤¢ H01 : �0 = 1SC1 = S2� (F ��n (�)j� = �̂0)�1 d�! (W 2(1) � 1)24 R 10 W 2(t)dt ; n!1.´¨� ¢¤�À÷�µ¨� Â�þø À�þ�Âê W (t) ö� ¤¢ �î ,´¨�(� ± ª) ´ þ¢øÀ½ õ öøÀ � ý� ûÂ ð¢¤ø�Â � �̂ = (�̂(n); �̂(n)) À � � î ­Â ê : ö� ûÂ �H01 ��®Âê ´½� � ¼�½¬ Âþ¢�Öõ �̂0 = (�0;1) ø À�ª�� � Âµõ�¤�� üþ�Þ�µ¨¤¢Ýþ¤�¢ �̂0 ñ�� S(�) ¤�Ü�� ÍÆ� �� ���� �� .Àª��Sn(�̂) = Sn(�̂0) + �2'n����T (�̂ � �̂0) +Op(1)= Sn(�̂0)� F n(�̂0)��̂ +Op(1)´êÂð �¹�µ÷ ö���üõ S�(�̂0) = 0 ø Sn(�̂) = 0�î ßþ� �� ������Sn(�̂0) = " S�(�̂0)��(�̂0) # = " F��(�̂0) F��(�̂0)F��(�̂0) F��(�̂0) #" ��̂��̂ #+Op(1)ßþ�Â����S�(�̂0) = (F��(�̂0)��̂ + F��(�̂0)��̂) +Op(1) ø0 = (F��(�̂0)��̂ + F��(�̂0)��̂+Op(1)Â û ý�Â � ü � ã þ ,´ ¨� ü ê¢� Ê � ý¤�À ÷�Â î ¢� Þ ÷ Op(1) ö� ¤¢ � î�¹�µ÷¤¢ .P (jXnj � k) � " ; " > 0S�(�̂0) = �F ��(�̂0)� F��(�̂0)(F��(�̂0))�1F��(�̂0)���̂+Op(1)



195 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬= F ��(�̂0)��̂+Op(1) ö� ¤¢ �îF ��(�̂0) = 1̂�20 nXi=2 e2i�1 � 1̂�20 [ nXi=2 xTi�1(ei � �̂0ei�1) + ei�1(xi � �̂0xi�1)T ℄� X�1n (�̂0)[ nXi=2 xTi�1(ei � �̂0ei�1) + ei�1(xi � �̂0xi�1)T ℄ (7)��̂ = �̂(n)�1 = P2i=2 ei�1�iP2i=2 e2i�1 �¤�¬�� ö�õ¥� ßþ� ý�Â� ý�ù¤�õ� H01 ­Âê´½�Ýþ¤�¢ ¢�ª �Â® ��̂ ¤¢ ´¨�¤ ø ²� ¥� (7) �Î��¤ �ø¢ �ÜÞ� �»÷��� ,´¨���̂j(ei � �̂0ei�1)X�T22n xi�1j2��̂ � max1�i�nxTi X�1n (�̂0)xi���̂( nXi=2(ei � �̂0ei�1))2��̂= max1�i�nxTi X�1n (�̂0)xi(P2i=2 ei�1�iP2i=2 e2i�1 )2 nXi=2(ei � �̂0ei�1))2= o(1)op(1) = op(1)ß þ� ý�Â � .´¨� ¤�Â ìÂ � ÓÈ � ³ � ýø�Æ õ� ÷ ø (1) � Î ��¤ � � ��� � � � Â ¡� � Î ��¤�î À��î ����¤�Ñ�õmax1�i�nxTi X�1n (�̂0)xi ! 0 n!1ß��»Þû .max1�i�n xTi X�1n (�̂0)xi = O(1)�¹�µ÷ ¤¢P (Pni=2(ei � �̂0ei�1)�n(�0; �20) � k) � P (Pni=2(ei � �̂0ei�1)n � k)� P (Pni=2 E(ei � �̂0ei�1)nk )= 0 n!1



üÎ¡ ü÷��¨Âð¤ ñÀõ ¤¢ ùÂÞ÷ ö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ : : : : : : : : : : : : : : : : : : : : : : : : : : 196ø (Pni=2(ei � �̂0ei�1))2 = op(�2n(�0; �20)) ßþ�Â����P (Pni=2(e2i�1)�2n(�0; �20) � k) � P (Pni=2 E(e2i�1)�2n(�0; �20)k )= 1�n(�0; �20)k � 1nk ! 0 n!1ß��»Þû .Pni=2 e2i�1 = op(�2n(�0; �20)) ßþ�Â����P (Pni=2(ei�1�i)�n(�0; �20) � k) � P (Pni=2 E(e2i�1)E(�2i )�2n(�0; �20)k )= �20�n(�0; �20)k � 1nk ! 0 as n!1´êÂð �¹�µ÷ ö���üõ Å� .Pni=2 ei�1�i = op(�n(�0; �20))ßþ�Â����(Pni=2(ei�1�i)Pni=2 e2i�1 )2( nXi=2(ei � �̂0ei�1))2 = op(1)�î ¢�ª ���� ß��»Þû��̂( nXi=2(ei�1(xi � �̂0xi�1)X�T22n (�̂0))2��̂� (X� 12n (�̂) nXi=2(xi � �̂0xi�1)T (xi � �̂0xi�1)X�T22n (�̂0))��̂( nXi=2 e2i�1)2)��̂=X� 12n (�̂0)X1n(�̂0)X�T2n (�̂0) (Pni=2 ei�1�i)2Pni=2 e2i�1 = op(1)Pni=2 ei�1�i = op��n(�0; �20)� ø Pni=2 e2i�1 = op��2n(�0; �20)� � î � ¹ ÷� ¥�Ýþ¤�¢��̂F ��(�̂0)��̂ = ��̂�̂0 nXi=2 e2i�1��̂+ op(1):



197 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬�¹�µ÷ ¤¢SC1 = fS2p (�̂0)(F ��(�))�1g�=�̂0= ��̂(F ��(�))(F ��(�))�1(F ��(�))��̂= ��̂(F ��(�))��̂= (�̂� 1)( 1̂�0 nXi=2 e2i�1)(�̂� 1) + op(1)= n(�̂� 1)(n�2�̂0 nXi=2 e2i�1)n(�̂� 1) + op(1)= (n�1Pni=1 ei�1�i)2�̂0n�2Pni=1 e2i�1 + op(1)(2006 ,ýø) Ýþ¤�¢ üã��� ý�îÂõÀ� ��Ìì �� ���� �� H01 ­Âê ´½� ßþ�Â����SC1 d�! (W 2(1)� 1)24 R 10 W 2(t)dt ; n!1.´¨� Â�þø À�þ�Âê W (t) ö� ¤¢ �î
üµÈð¥��¢�¡ ñÀõ ¤¢ üÚµÆ±Þû¢�¡ ö�õ¥� 2.3ÛÖµÆõ ý�ûùÀ ÷� õ � � ü ÷� �¨Âð¤ ñÀõ � � (2) ñÀõ ù�Ú ÷� ,�0 = 0 Âð� ¢�ª ����ö� õ¥� .¢� ªü õ Û þÀ ± � ü û� � µ õ Å ÷� þ¤�ø ø Â Ô ¬ ß � Ú ÷� � õ � � â þ¥� �Ý û øÛ �� Ö õ ¤¢ H02 : �0 = 0 ö� õ¥� ñ¢� ã õ ü Î ¡ ö� � ¨Â ð¤ ¤¢ ü Ú µ Æ ± Þ û¢� ¡ý�ûÂµõ�¤�� �20 ø �0 ø �ì�ä ¢¤�õ Âµõ�¤�� �0 ö�õ¥� ßþ� ¤¢ .´¨� H12 : �0 6= 0¤¢ �î ,´¨� S2� (F ��n (�)j�=�̂0)�1 Â��Â� H02 ý�Â� ùÂÞ÷ ö�õ¥� ù¤�õ� .À�µÆû Ý���õ(�±ª) Âð¢¤ø�Â� �̂0 ø F ��n (�) = F��(�̂0)� F��(�̂0)(F��(�̂0))�1F��(�̂0) ö�.´¨� H02 ­Âê ´½� � üþ�Þ�µ¨¤¢



üÎ¡ ü÷��¨Âð¤ ñÀõ ¤¢ ùÂÞ÷ ö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ : : : : : : : : : : : : : : : : : : : : : : : : : : 198ý�î âþ¥�� �� H02 ��®Âê ´½� ö�õ¥� ù¤�õ� (3) �� (1) Í��ø¤ ´½� : 2 ��ÌìÂÚþ¢ �¤�±ä �� ¢�ªüõ �ÂÚÞû ý¢�¥� ��¤¢ ×þ �� ¤�Ø¨�SC2 = S2� (�̂0)(F ��n (�)j�=�̂0)�1 d�! �2(1); n!1(� ± ª) ´ þ¢øÀ½ õ öøÀ � ý� ûÂ ð¢¤ø�Â � �̂ = (�̂(n); �̂(n)) À � � î ­Â ê : ö� ûÂ �H02 ­Âê ´½� � ¼�½¬ Âþ¢�Öõ �̂0 = (�0;0) ø À�ª�� � Âµõ�¤� � üþ�Þ�µ¨¤¢Ýþ¤�¢ Û±ì ´ó�� ���Èõ .Àª��S�(�̂0) = �F��(�̂0)� F��(�̂0)(F��(�̂0))�1F��(�̂0)���̂+Op(1)= F ��(�̂0)��̂+Op(1) ö� ¤¢ �îF ��(�̂0) = 1̂�20 nXi=2 e2i�1 � 1̂�20 [ nXi=2 xTi�1(ei � �̂0ei�1) + ei�1(xi � �̂0xi�1)T ℄�X�1n (�̂0)[ nXi=2 xTi�1(ei � �̂0ei�1) + ei�1(xi � �̂0xi�1)T ℄ (8)¤¢ ��̂ �Â ® � � ��̂ = �̂(n) � 1 = P2i=2 ei�1�iP2i=2 e2i�1 Ý þ¤�¢ ,H02 ­Â ê ´ ½ �Ýþ¤�¢ 1 ��Ìì ��±�� ���Èõ (8) �Î��¤ ß�êÂÏ��̂F ��(�̂0)��̂ = ��̂Pni=2 e2i�1�̂0 ��̂+ op(1) �¹�µ÷ ¤¢SC2 = fS2� (�̂0)(F ��(�))�1g�=�̂0= f��̂F ��(�))(F ��(�))�1�F ��(�)���̂= ��̂Pni=2 e2i�1�̂0 ��̂+ op(1)



199 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬��ÜÎõ Íþ�Âª ´½� ,Àª�� � üþ�Þ�µ¨¤¢ ÝÞ�Æî�õ Âð¢¤ø�Â� �̂(n) Âð� : 1 ÂîÁ�Ýþ¤�¢ ï¤�� ý�ûn ý�Â� ø�̂(n)� ��n(�̂(n)) d�! N(0;1)ö� Þ û � ¹ � þ� ¤¢ � î ´ ¨� Â È � ê á� Ï� I(�) ø �n(�) = 1I(�) ö� ¤¢ � î1 Â îÁ � � � � �� � � � ø H02 � � ®Â ê ´ ½ � ß þ�Â �� � � .´ ¨� Fn(�).SC2 d�! �2(1) �¹�µ÷ ¤¢ (�̂(n)� 1)�Pni=2 e2i�1�̂0 � 12 d�! N(0;1)üÎ¡ ö��¨Âð¤ ¤¢ üÚµÆ±Þû¢�¡ ö�õ¥� 3.3ö� õ¥� .¢�ªü õ Û þÀ ± � ñø� � ± �Â õ ü µÈ ð¥� �¢�¡ ñÀ õ � � (2) ñÀ õ �0 = 0 Â ð�Û �� Ö õ ¤¢ H03 : �0 = 0 ö� õ¥� ñ¢� ã õ ü Ú µ Æ ± Þ û¢� ¡ ¤�Ì� ¤¢ ö� � ¨Â ð¤ý�ûÂµõ�¤�� �20 ø �0 ø �ì�ä ¢¤�õ Âµõ�¤�� �0 ö�õ¥� ßþ� ¤¢ .´¨� H13 : �0 6= 0SC3 = S2�(�̂0)(F�� j�=�̂0 Â ��Â � H03 ý�Â � ùÂÞ ÷ ö� õ¥� ù¤� õ� .À � µÆû Ý��� õ(� ±ª) Âð¢¤ø�Â � �̂0 ø F��n ��(�̂0) � F��(�̂0)(F��( ^�̂0)0))�1 ö� ¤¢ � î ,´¨�.´¨� H03 ��®Âê ´½� � üþ�Þ�µ¨¤¢ý�î âþ¥�� �� H03 ��®Âê ´½� ö�õ¥� ù¤�õ� (3) �� (1) Í��ø¤ ´½� : 3 ��ÌìÂÚþ¢ �¤�±ä �� ¢�ªüõ �ÂÚÞû ý¢�¥� ��¤¢ d �� ¤�Ø¨�SC3 = S2�(F�� j�=�̂0)�1 d�! �2(d); n!1(� ± ª) ´ þ¢øÀ½ õ öøÀ � ý� ûÂ ð¢¤ø�Â � �̂ = (�̂(n); �̂(n)) À � � î ­Â ê : ö� ûÂ �.Àª�� H03 ��®Âê ´½� � ¼�½¬ Âþ¢�Öõ �0 = (0; �) ø À�ª�� � Âµõ�¤�� üþ�Þ�µ¨¤¢Ýþ¤�¢ Û±ì ´ó�� ���ÈõSn(�̂0) = Fn(�̂0)��̂ +Op(1):



üÎ¡ ü÷��¨Âð¤ ñÀõ ¤¢ ùÂÞ÷ ö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ : : : : : : : : : : : : : : : : : : : : : : : : : : 200ßþ�Â����S�(�̂0) = �F��(�̂0)� F��(�̂0)(F��(�̂0))�1F��(�̂0)���̂ +Op(1)= F��(�̂0)��̂ + Op(1) Ýþ¤�¢ (5) �Î��¤ �� ������F��(�̂0) = F��(�̂0) =Xn(�0) �¹�µ÷ ¤¢SC3 = (��)T (F��(�̂0)�1�� = jX 12n (�0)��j2.¢�ªüõ Û¬�� ÂÑ÷ ¢¤�õ �¹�µ÷ X 12n (�0)�� d�! Nd(0; I) �Ø�þ� �� ������ý¥�¨��±ª �ãó�Îõ 4ý¥�¨� � ± ª ý� û� ÷� Þ ÷ � � R ¤�� ê� �Â ÷ ¥� ù¢� Ô µ ¨� � � � Ü�Â õ ø¢ ¤¢ Ç¿ � ß þ� ¤¢ù¥�À÷� �� �Âµ¨� ��� ý�û�÷�Þ÷ ¢�Àã� ø n = 25;50;75; : : : ý�û ù¥�À÷� �� ùÀªø �±¨�½õ � ø � ý�ûÂµõ�¤�� üþ�Þ�µ¨¤¢ (�±ª) ý�ûÂð¢¤ø�Â� ,¤�ÂØ� m = 2000À ÷�ªüõ Ý¨¤ � ûÂð ¢¤ø�Â � ß þ� � � ¯� �Â õ �Î¡ �ø¢ ö�� � ß �Ú ÷� � õ ý�û¤�¢�Þ ÷ßþ� ý�Â � .À ÷�ªüõ ß��ã � À��ø �Èþ¤ ßµª�¢ ö�õ¥� ù¤�õ� ý�ûíÀ�� ß��»ÞûY = X� + E üÆ þÂ �� õ �Â ê � � yi = �Txi + ei ; i = 1; : : : ; n ñÀ õ ¤� Ñ � õñÀ õ ¥� � ûùÀ ÷� õ ø À � ª� � � = " 12 # ø � = 1 ,d = 2 � î .¢� ªü õ üÆ þ� ÷¥� �ø À��î ýøÂ�� ei = �i�1 + ai ñø� �±�Âõ üµÈð¥��¢�¡Y = 266664 y1y2...yn 377775 ; X = 266664 x11 x12x21 x22... ...xn1 xn2 377775 ; � = " �1�2 # ; E = 266664 e1e2...en 377775.À�µÆû ¢¤�À÷�µ¨� ñ�õÂ÷ âþ¥�� ý�¤�¢ �û�Î¡ ß��»Þû



201 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬ý¥�¨� � ±ª � ø � ý�ûÂ µ õ�¤� � ü þ�Þ � µ¨¤¢ (� ±ª) ý�ûÂð¢¤ø�Â � :ñø� � Ü�Âõý�Â� ¢¤�À÷ ý� �µÆ� �Âê �ûÂµõ�¤� � ßþ� üþ�Þ�µ¨¤¢ (�±ª) ¢¤ø�Â� ö�� .À÷�ªüõ¥� �¤ �û�Î¡ �Àµ�� ¤�Ñ�õ ßþ� ý�Â� .¢�ªüõ ù¢�Ôµ¨� ý¢Àä ©ø¤ ¥� �ûö� ý¥�¨��±ªý�ûÂð¢¤ø�Â� ø ù¢Âî ý¥�¨ ��±ª U(0;1) âþ¥�� ¥� �¤ x ø ¢¤�À÷�µ¨� ñ�õÂ÷ âþ¥��m = 2000 �Âµ¨� ��� �÷�Þ÷ ø n = 25;50;75; : : : ý�Â� �¤ � ø � ý�ûÂµõ�¤��¢¤ø�Â � � � ¯� �Â õ � Î¡ �ø¢ ö�� � ß �Ú ÷� � õ ø ù¢�Þ ÷ À � ó� � seed(120) � � ¤�ÂØ �ß��»Þû .À÷�ùÀª ���¤� 2 ø 1 ñø�À� ¤¢ ø ùÀª �±¨�½õ ùÀª À� ó�� ý�ûÂµõ�¤� �3 ø 2 ,1 ý�ûÛØª ¤¢ ��÷ ùÀª À�ó�� ý�ûÂð¢¤ø�Â� ý�Î¡ �ø¢ ö��� ß�Ú÷��õ ¤�¢�Þ÷.´¨� ùÀª Ý¨¤ý�Â � ùÀ õ� ´ ¨¢� � Â þ¢� Ö õ ¢� ªü õ � Ñ �� õ 1 ñøÀ � ¤¢ � î ¤� Ïö� Þ ûø �1 = 1,� = 1 üãì�ø Âþ¢�Öõ �� ×þ¢�÷ �ûÂµõ�¤�� üþ�Þ�µ¨¤¢ (�±ª) ý�ûÂð¤ø�Â�.À�µÆû �2 = 2
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üÎ¡ ü÷��¨Âð¤ ñÀõ ¤¢ ùÂÞ÷ ö�õ¥� ù¤�õ� ýÀ� ¤�µê¤ : : : : : : : : : : : : : : : : : : : : : : : : : : 202�2 ø�1 ,� ý�ûÂµõ�¤�� ¢¤ø�Â� Âþ¢�Öõ :1 ñøÀ��̂2 �̂1 �̂ N1/9829 1/0292 0/9627 252/0115 10/0118 /9615 501/9958 0/9928 0/9590 752/0033 0/9923 0/9670 1002/0047 1/0039 0/1970 1502/0092 1/0079 0/9744 2002/0076 1/1001 0/9780 2502/0157 1/0147 0/9821 3002/0180 1/0068 0/9818 3502/0159 1/0065 0/9817 4002/0260 1/0202 0/9803 4502/0126 1/2171 0/9824 5002/0164 1/0223 0/9814 5501/0197 0/9821 0/9821 6002/0252 1/0235 0/9834 6502/0168 1/0167 0/9847 7002/0134 1/0187 0/9843 7502/0201 1/0258 0/9844 8002/0270 1/0332 0/9835 8502/0251 1/0267 0/9843 9002/0170 0/0163 0/9843 10002/0203 1/0241 0/9854 11002/0214 1/0230 0/9849 12002/0286 1/0297 0/9842 13002/0134 1/0139 0/9854 14002/0060 1/0108 0/9852 15002/0292 1/0293 0/9851 20002/0236 1/2443 0/9852 25002/0377 1/0367 0/9850 30002/0521 1/0470 0/9845 35002/0394 1/0407 0/985 40002/0468 1/0471 0/9852 45002/0469 1/0519 0/9850 50002/0425 1/0430 0/9855 55002/0442 1/0452 0/9855 6000



203 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬�̂2 ø �̂1 ,�̂ ý�ûÂð¢¤ø�Â� ý�Î¡ �ø¢ ö��� ß�Ú÷��õÂþ¢�Öõ :2 ñøÀ�MSE�2 MSE�1 MSEq N0.0001 5/4352e-05 9/1809e-06 256/2947e-06 5/8233e-05 2/2587e-06 50/4084e-05 3/8044e-05 8/6582e-07 751/09850e-06 1/0950e-06 6/8213e-09 1006/8579e-06 7/1993e-05 3/8301e-07 1502/7008e-05 1/1963e-05 8/5027e-08 2003/7586e-07 1/7918e-05 1/6071e-09 2506/9706e-06 9/0222e-06 1/7432e-07 3005/5302e-06 5/2111e-06 1/8482e-08 3503/4164e-07 2/5277e-06 1/4266e-11 4001/1652e-07 1/4248e-05 6/9837e-09 4502/9652e-07 1/7820e-05 1/0160e-07 5001/6687e-05 2/4990e-07 2/6156e-09 5506/7244-06 1/3718e-06 5/9465e-08 6004/5782e-06 9/5866e-06 9/3041e-09 6501/0325e-05 6/5782e-06 4/6441e-09 7008/1500e-07 2/2197e-05 1/5005e-08 7504/2697e-06 2/1425e-05 2/9302e-08 8001/8600e-06 5/2752e-06 5/9672e-08 8506/7348e-06 4/5674e-07 9/7517e-09 9002/2350e-06 1/1587e-05 3/4416e-08 9503/8914e-06 7/2141e-08 1/4056e-08 10004/9671e-06 8/6858e-07 1/4391e-09 11003/6947e-06 1/8297e-06 3/2016e-01 12005/4346e-08 1/1450e-05 3/4657e-08 13001/7242e-06 9/5548e-07 6/8360e-10 14004/5278e-06 2/3904e-11 7/4057e-08 15001/0641e-06 4/2729e-07 7/0253e-10 20006/5521e-06 5/4534e-06 5/2582e-08 25005/4276e-09 2/0246e-06 3/5828e-08 30005/2786e-07 1/6356e-06 3/7535e-08 35002/0120e-06 2/6250e-07 3/0173e-08 40008/7256e-06 9/7580e-07 5/1254e-08 45006/3056e-06 8/4624e-07 1/2888e-07 50001/7498e-06 5/4336e-07 2/8344e-09 55001/2585e-06 7/9899e-07 5/5810e-09 6000
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(�) .(Óó�)n Û��Öõ ¤¢ �1 : � �2 :Óó�Âð¢¤ø�Â� MSE ¤�¢�Þ÷ :2 ÛØª
À÷ø¤ � ± þÂÖ � �Î¡ �ø¢ ö��� ß�Ú÷� � õ ,n öÀª ï¤�� � � 3 ø 2 ,1 ý�ûÛØª ¤¢©ø¤ �� ùÀª �±¨�½õ ý�ûÂð¢¤ø�Â� ö¢�� ��¡ ùÀ�û¢ ö�È÷ �î ù¢Âî �À�� üóø�÷.´¨� ý¢Àäâì��õ üÌã� ¤¢ ø ¢¤�À÷ ý��µÆ� �Âê ö�õ¥� ù¤�õ� ýÀ� âþ¥�� ö�� :�ø¢ �Ü�Âõ�ûâþ¥�� ßþ� ý�ûíÀ�� (1976) üØþ¢ ���Èõ ,´Æ�÷ ÂÆ�õ �ûñ�ÂÚµ÷� ýÂ±� �±¨�½õâ þ¥� � ¥� � û�Î¡ �À µ �� ¤�Ñ � õ ß þ� ý�Â � .À ÷�ùÀª � ±¨�½õ � ó¤� î ´÷� õ ©ø¤ � �ö�õ¥� ù¤�õ� ýÀ� âþ¥��ø ùÀª ý¥�¨��±ª U(0;1) âþ¥�� ¥� x ø ¢¤�À÷�µ¨� ñ�õÂ÷m = 5000 �� �Âµ¨���� �÷�Þ÷ ø n = 25;50;75; : : : ý�Â� À��ø �Èþ¤ ßµª�¢,0/5 ,0/1 ,0/05 ,0/025 ,0/01 ý�ûíÀ�� .À ÷�ùÀ þ¢Âð À � ó� � seed(200) ¤�ÂØ �.À÷�ùÀª ���¤� 3 ñøÀ� ¤¢ ø ùÀª À�ó�� ýÀ� âþ¥�� 0/99 ,0/975 ,0/95 ,0/9.À÷�ùÀª À�ó�� ��÷ seed(1000) �� ýÀ� âþ¥�� ý�ûíÀ�� ���Èõ ¤�Ï��



205 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : üúÜó�´Þã÷ �®Â�Üä ,ö�þÂúõü÷�õ¥ �ÖþÀ¬� = 1 ý�Â� d1 ü�Â¹� âþ¥�� :3 ñøÀ�0/975 0/95 0/90 0/50 0/10 0/05 0/99 0/025 0/01 N seed8/997 6/563 4/721 3/330 0/530 0/018 0/004 0/001 8/9e-05 25 2008/713 6/124 4/810 3/337 0/567 0/022 0/006 0/001 0/0002 507/270 5/352 4/094 2/879 0/459 0/020 0/004 0/001 0/0002 1006/907 5/210 3/953 2/864 0/473 0/016 0/004 0/001 0/0002 2006/457 5/006 3/832 2/699 0/480 0/016 0/004 0/001 0/0002 50021/470 15/660 11/870 8/449 1/489 0/046 0/013 0/004 0/0004 25 100014/640 11/660 9/370 6/913 1/410 0/061 0/013 0/003 0/0003 507/551 5/456 4/145 2/915 0/502 0/016 0/004 0/001 0/0001 1007/015 5/308 4/046 2/846 0/467 0/017 0/004 0/001 0/0002 2006/738 4/931 3/868 2/743 0/463 0/018 0/004 0/001 0/0002 500ýÂ�ð�¹�µ÷ ø ¶½�ý�û� �®Â ê ùÂÞ ÷ ö� õ¥� ù¤� õ� ýÀ� â þ¥� � ø ü þ� Þ � µ¨¤¢ (� ±ª) ý�ûÂð¢¤ø�Â �ßþ� ù¤�õ� ýÀ� âþ¥�� ø �÷�õ�÷ ø �÷�õ ý�ûùÀ÷�õ �� üÎ¡ ö��¨Âð¤ ñÀõ ý�Â� ÓÜµ¿õö�È÷ ý¥�¨��±ª ��ãó�Îõ .Àª ���¤� (2003) Âó�õ §�¤ ¥� Â�ù¢�¨ ü��±�� �� �û ö�õ¥�âþ¥�� ý�ûíÀ�� ùø�ä�� .À�µÆû °¨��õ üþ�Þ�µ¨¤¢ (�±ª) ý�ûÂð¤ø�Â� �î À÷¢�¢üØ þ¢ � ��È õ ü óø�À� ¤¢ ø � ±¨�½õ À��ø �È þ¤ ß µª�¢ ö� õ¥� ý�ûù¤� õ� ýÀ�.Àþ¢Âð ���¤� À��ø ý�û�Èþ¤ �� ¯��Âõ ý�û��®Âê ö�õ¥� ý�Â� (1967)ÂØÈ� ø ÂþÀÖ�ùÀ÷¥¤� ��¢�ú�È�� �� �î �ó�Öõ �Âµ½õ ö�¤ø�¢ ¥� �¤ ü÷�¢¤Àì ø ÂØÈ� ñ�Þî ö�ðÀ�Æþ�÷.À÷¤�¢ �¤ À÷Àª �ó�Öõ ¢�±ú� ¶ä�� ¢�¡â��ÂõChow, Y. S. (1965), Lo
al Convergen
e of Martingales and the Law ofLarge Numbers, Annals of Mathemati
al Statisti
s, 36, 552-558.Cox, D. R. and Hinkley, S. (1983), Diagnosti
s for Heteros
edasti
ity inRegression, Biometrika, 70, 1-10.
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